41 A

Ministry of Science and ICT

i [P LA

4 4

0%t

0%

—

et Y s

—

12 19

C0) Rkl i

S ¢ YONSEIUNIVERSITY

S

SW STOR LAB

Software Technology Advanced Research

N E: 10T 2HE 2 2ot 1 ds EefA| 422
AEQ|X] 7|EE QI 22| 2AF
of Lj et

N 2017-0-00477

NTP zzsirianzue
farmal nications Techrology Pramotion



HMCHEt e HO[ESe Hdd s



A AB
AEE T2 AU
2 MEH+Z
- 2R 2|-AE2|X| AlE ZF HIO|H MZ& =
« Redis-RocksDB 7t + =N Hzt

e Redis K-V +ZH|2| HEIHE |FX|E 26 RocksDB K-V T
ZHOf SiE HE 34X

In-memory Object List (Redis) Storage Object List (RocksDB)
O—> Key ™ Key > - — Key —>O O—> Key —> Key ->Q
object eviction/migration
> value
» timestamp:24 colimpke mlly
> ding:8 P
il RocksDB Key-Value HHE Ed| /
> datatype:7 Redis Key-Value 3 HEFEE 447
»  location:1
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A AD
1XHAE 59 UL
Eviction/Migration A % 34
» Eviction/Migration &4

- =2 HEZ22[7t 52 82, HZ22|0 #{X|et HO|HE Sdh
Al HEZ22] 2E2|X|Z OlsAl7|= 7S

Transactional
Operation

———————

7 o
I eviction

T

———————

|
1
1
1
1
1
1
\

Spor‘lh(z sQL

t Transactional
Operation

get

e ey )
\
|

|
|
|
|
1
1
\migration

(T el B € -
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Eviction/Migration A % 4

« Eager-Background Eviction - H=2& 0| FZ8X|7] HOj
J g background thread& Soll MH|X 2

Spor‘l’g saL 2 HEa 278

¥ request set command

- I/O02 et ZSot= a5}

. Persist to RocksDB

pick the candidates
to be persisted N

pick the candidates ¢*)

f% RocksDB

o ™ " N N N N

to be freed N 4 Remove from Redis
M &B redis
SIS process set command

Main thread Background thread
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1XHEE =2 AHLYA

«  Eviction/Migration A# % &

» Eager-Background Eviction & &7}
« On-demand 20| H|SH 4Kbytes OIO|E 37| 7|& 1510HH,
4 bytes 7|& 17H 0|M = Meldss 24
« &3 RocksDB I/0 £35t& 22I5t7| ?/3l Logging off 7|& =78

1510x 612x 399x 201x 115x 65x 35x 28x 55x 22x 17x

Ll.hhhilliii

Bytes 4096 2048 1024 512

B Eager-
background

W On-demand 35.71 93.2 175.7 361.6 634.5 1135 2093 2672 1357 3408 4485

RPS(Requests Per Second)

53912 57017 70163 72595 72801 73220 74196 74904 74553 75058 76169

B Eager-background = On-demand
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S7Hs/w 7[5

« SIHO|X| S7H
« Code repository 2! Issue tracker, Cl Al A=
- JlE 221 8 23 S
- &7 2toldA M A S B 28

Analytic Distributed DBMS .
Introduction

ADDB
<]
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Circular Queue =

* Eviction =& A|, Eviction L& 0| 5=
- OO|57F A=l =ALCH= Eviction =

In-memory Object List (Redis)

(O dict

dictEntry {
dictEntry {
— dictEntry {

Key

value

Key

value

Key Circular Queue

value
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A E T2 UL

* Redis W -'-F7=|| o RE X2
+ Key-Value HE{S| X% 7|EtS &7 REH=Z HY
« Key-Value Store9-| = N S F 28510 HO|HZE M

Key-Value Model Relational Model

O—> Key 1 Key > --- — Key ->Q -

* I aEEE— ——
object —_—
— | 2
value - - - —
>
timestamp:24 - -
- —_—

encoding:8

datatype:7 — ]
location:1 < ——

A 4

\ 4

A 4

\ 4

A 4
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https://ko.icons8.com/icon/15195/arrow-pointing-to-right
https://ko.icons8.com/icon/15195/arrow-pointing-to-right
https://ko.icons8.com/icon/15195/arrow-pointing-to-right

Date ltem_Num Quantity User_ID
20180925 1 4 User2
20180925 1 2 User1
20180925 1 6 User6
20180925 1 11 User8
20180925 1 5 User5
20180926 1 3 User1
20180926 2 3 User13
20180926 2 7 User8
20180926 2 15 User2
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« Relational Model?@| H|O|E{E valuett{ 2 &
« Row : Column FieldZ H|O|E 2| ¥ X| & Lt}

ColumnID =1 ColumnID =2 ColumnID =3 ColumnID = 4

TabITID =] l l l

Date ltem_Num Quantity User_ID

RowlID = 1 20180925 4 User2
RewiDE=ID 20180925 2 User1
| 20180925 User6

| 20180925 User8

| 20180925 User5

I 20180926 User1

! 20180926 User13

| 20180926 User8
RowID = 9 20180926 User2
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« Row : Column FieldZ O|O|EH 2| ¥ X| & Lt
o BIHSE G[O|E Access &

Tab|e|D =v=] ColumnIiD =1 ColumnID =2 ColumnID =3 ColumnID = 4

l l l | OB

Date [tem_Num Quantity User_ID 1:1
RowID =1 1:1 1:2 1:3 1:4 dictEntry 123
RowlID = 2 2:1 222 2:3 2:4 —L 20180925
I 3:1 32 3:3 3:4
I 4:1 4:2 4:3 4:4 » 1:2
| 5:1 5:2 5:3 5:4 ety {
I 6:1 6:2 6:3 6:4 !
I 7:1 72 73 7:4
| 8:1 8:2 8:3 8:4 i
RowlID =9 9:1 9:2 9:3 9:4
9:4
_L User2
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« Access HIZE Z£0|1 G|O|E 22| S HIAH 3B}7] {8

RowE Groupth?l2 #&

Date ltemn_Num Quantity User_ID

20180925 1 4 User2

RowSrouR; = 20180925 1 2 User1
20180925 1 6 User6

20180925 1 11 User8

RowGroup = 2 20180925 1 5 User5
20180926 1 3 User1

20180926 2 3 User13

RowGroup = 3 20180926 2 7 User8
20180926 2 115 User2
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- THAY 2H 4

- TablelD
- RowlID
« ColumnID
* RowGrouplD
ColumnIiD =1 ColumnID =2 ColumnIiD =3 ColumnID = 4
TablelD = 1
Date ltemn_Num Quantity User_ID
20180925 1 4 User2
Rewbnoup: ot 20180925 1 2 UserT
20180925 1 6 User6
20180925 1 11 User8
RowGroup = 2 20180925 1 5 User5
20180926 1 %) User1
20180926 e 3 User13
RowGroup = 3 20180926 2 7 User8
20180926 2 15 User2
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2AIEE =9 SlLj

» H|O|E Partitioning

- HIO|F 37| &70| & 85 Olar

HF
- AH

« ZAHHO| 2 Column valueE 182

o

P

A a2 = A A
. 7t1E&4 1 Xﬂﬂ E1I0|E1 A& 7tsd da
11 20| A =2
[ ]
(@)
Date Item_Num Quantity User_ID
ltem Num Quantity User_ID / 20180925 1 4 User?2
20180925 4 User?2 20180925 1 2 User1
20180925 1 2 User1 20180925 1 6 User6
20180925 1 6 Userb 20180925 1 11 User8
20180925 1 11 User8 20180925 1 5 UserS
20180925 1 5 User5
20180926 1 3 User1
20180926 1 3 User1
20180926 2 3 User13 S PartitionInfo : 2:2
20180926 2 7 User8 Date [tem_Num Quantity User_ID
20180926 2 15 User2 20180926 2 3 User13
20180926 2 7 User8
20180926 2 15 User2
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» H|O|E Partitioning
. 3l Redis NodeOl| H|O|E{7f 22|X| Y= LY

Ex) hashkey 0~5000 5001~ 10000 10001~150000
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o

T

 Redis A 2 & =X

1 2 3 4

FPWRITE D:{100:2:1}:G:1 21401234

@

dict dictMeta
|  mE
D:{100:2:1}:G:1
_m< [M:{100:2:1} |
_
—E—[ _m< [ Current_RGID |
1
1 |
2] e
- — o]
—
i —
— 14
e —
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2AMHE =9 WL A

dictMeta
o= <| M:{100:2:1} |
[ Current_RGID |
e
[o]
—Ea

. OOl MZEO| ZHast 271Xl @42 QI5l0] K| 22| AFREF0| A8 7}
« dictEntry — 24B
» Redis object — 16B
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e Vectors At
« XZEl H|O|E E}

o) 11
g3} 7

—

ol
H=

FAE 2 E M
125t Column

« MM E[= dictEntry2t Redis Object = &t

/K_-» ColumnVector1
er

Date [tem_Num Quantity User_ID

20180925 1 4

~—d
20180925 1 —— Usert
20180925 1 6 User6
20180925 1 11

/
20180925 1 " User5
20180926 1 3 UserT
20180926 2 3 User—
20180926 2 | 7 " users
20180926 2 15 User2

—> ColumnVector3

AHChstm G0 B A7
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AHE 2 LY

Vectorg ALEoF ZHA I 2 H

1 2 3

dict

:I D:{100:2:1}:G:1
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dict

dict

.— ColumnlD : VectorID

-1100:2:1}:G:1 |

m:l D:
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2AMHE =9 WL A

- 2HEE] 28 7|
« Redis persistence method
« Snapshot(RDB)
« Append Only File(AOF)
« AOF_always
« AOF_everysec
« AOF no

« AOF Procedure

/ Main \
Dataset Process
Request -
AOF Rewrite

Buffer Buffer

Memory(DRAM)
Disk(HDD or SSD)

Writing Command Logs

\ AOF File J
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A E FQ UL

- 222l 28 7l
« AOF I:II-I:HO| E_x-”
. E1I0|E17f AEFHe= YUHEM AOF IHY 37| 57|
- d5 Aot & E|AHE| H= Kot T

 AOF Rewrite
+ AOF Lol A7|& &0[7| 2l M7= U

( Bl Main
£ ataset | pPrAarace | ] i—miri— i — i — e —
. V\ Process ( \ Child
Client 1. fork‘ g Dataset |  Process
Request 3. Append Command Loqs+ PR RN ER o
AOF Rewrite
Buffer Buffer
Memory(DRAM)
Disk(HDD or SSD) 2. Creating Temporary AOF File
& Generating SET Command Logs

A 4 v
. Temp
SO AOF File |
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« AOF Rewrite 50| d5 XNo} & Mot HE2| AFE EH

6 50,000

—_
) 45,000 @
0 5 w
= 40,000 3
D, 35,000 3
(1] —
w 30,000 -—
o S
= 3 25,000 oo
|8 -
s 20,000 S
g 2 15,000 2
b

10,000 _—

= 1 =

5,000

81 91

Time(sec)

Total Memory Usage = --—-- AOF Rewrite Buffer Memory Usage —+«—Throughput{ops/sec)
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